Chapter 28. Coordinate Geometry

Ex 28.1

Answer 2.

The following points lie in:
A(-4,3) : II guadrant
B(2,-5): IV quadrant
C(-5,-3) : III guadrant
M(4,8): [ guadrant
P(-1,9): Il gquadrant

Z(4,-5) : IV quadrant



Answer 33.
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The following points lie on

3(0,-7):

v-axis

x-axis

kY
w

M(5,0)

¥-axis

v
e

P(-4,0)
R(0,6):

.

W(2,0)



Answer 4.

(i} Abscissais 6 and ordinateis 2

The co-ordinates of point whose abscissa is 6 and ordinateis 2 is (6,2)
(i) Abscissais 0 and ordinateis -3

The co-ordinates of point whose abscissa is 0 and ordinateis -3 is (0,-3)
(iii) Abscissais 5 and ordinateis -1

The co-ordinates of point whose abscissa is 5 and ordinateis -1 is (5,-1)
(iv) Abscissais -2 and ordinate is 0

The co-ordinates of point whose abscissa is -2 and ordinateis 0 is {(-2,0)
(v) Abscissa is -4 and ordinateis -7
The co-ordinates of point whose abscissa is -4 and ordinate is -7 is {-4,-7)

(vi) Abscissais 0 and ordinateis 0

The co-ordinates of point whose abscissa is 0 and ordinateis 0is (0, 0)

(vii) Abscissa is -7 and ordinateis 4

The co-ordinates of point whose abscissa is-7 and ordinateis 4 is (-7, 4)



Answer 5.
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Answer 9.
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(-2,-1),(0,3)and (1,5) are collinear points.



(i) (1,3),(-2,-4) and (3,5)
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(1,3),(-2,-4) and (3,5) are not collinear points.



(iii) (2,-1), (2,5) and (2,7)

x
| RN
o B & e I = i . .
- - ™ 1 .-
E | a1 .l - 1 - L
- - .-” = I.—I. |“
28 s i
HEN - 4 B EEEE ]
= . - I N 3
m At 11 —+1 f
m T - H
1 +1+4 =11
INE W 24 = i1 4 : . i
RN e EmEE . T 3 3 mn A
. EEEE - 4 o _.. - - Pt . E - r
T SET jSSIEELL Bt : g F
| 1 ] i |
i . IENNEEE NN NS Ll I'm Il
] m 1 Y . 3 ] B E H 8
I = | ! t B x R -
H- i ms mamEEE B 4 HH
.8 a i TE - = ' h . " | ope o4 - ER ]
= - - — A= - - -
¥ -4 1 __wm HH e 1 i i 111
| 1] : | | LB | 11T
i I q = |¥ |||...m__ “ y i ...
] EEEEEEY EEEE : L] i I e g
p— — 't b - - - - - A - - - ‘-
H:l. T 2E. SR8y iR . Jdmw o W R W LSRR DRty 1 L > |
. FTH ¥ e - - z T EE] .m [EEE ] . pof-nefp B ] H #.u
t 1 m 1 m ' m % - R _ 2T°1 ==t i I T11
L1 | 1 = i = 1 | i T L
s-. B |1“ * =t .ﬂ 1T —+ BUEE B el T -t r
1 =1 T | T . 1 1 T
ol T T 1 1 i
T “_ i | | _f 1 "
| ] | } | i
I | | . | M. : | 1 1 — RN L |
EEEE EEEEEHES. = { i | - -
1T ¥ 11 ¥ 1 i 111 11
ad obfon . adfon E R - - . .-
k. 1 ! 1 | 1 A
_ ! S A i o
| I =) L LLEiely H LIZ B [ 1 [
3 8 - ' " f ] ..-_ - H " i ] "
= m - - -l ” I"I -+ Iﬂ = .--I ". m i m m TI-.". ||M| +
HHHH ! H : AN r HAHHHH HH- 1
H ¥ [ T 1 11 : B
- | 48 - |8 N W - ! 1
RN A . = k. 44 | 4 - . 8 i | - "
2 : 4 : shits 28 :
11 ¥ 1 i H 1 11t i 5
. . CR " LR &=l-11-1 = -
11 1 ] ¥ + u.u BB + T m ] ; 1
I ] -~ I 1 [ | -
e = L 2 ¢ ... 4 1 4 R ! B 4
14 : R BAREREEr : iyt b |
L . = PR " v LA A i I T
P . Bl - 1 - ....” - . ..-.. -k -
H I 1 =1 T e 4 B S =11+
- T | mE R u T ._
: X : it SR

(2,-1),(2,5)and (2,7) are collinear points.



(“r) (41'_1): {-5,-1)&!’1{1 (3:_1)
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(4,-1),(-5,-1)and (3,-1) are collinear points.



Ex 28.2

Answer 4.

Wehave3x -y =7 = -y =7 -3x = yvy=3x-7
Whenx =-2 = y=-6-7=-13

Whenx =0 = y=-7

Whenx =2 = y=6-7 = -1

X B -1 0 1 2
y 3F [ 48 7 -4 -1

ErasaREal e n e
- 18
e
= 13

,{k

18-17. “':.g-'i-i-.i: H1311:10 20 <8 -7 -6 <5 pd .2 =2 .'J.u_

------ C e By P

...............................................

...............................................

Thus ardered pairs of 3x-y=7are {(-2,-13),(-1,-10},(0,-7), (1 ,-4),(2,-1)}.
Hence graphis as below.

(i)v, whenx =1
i

From graph we find thaty = -4, when x
(i) x, wheny =8

5 wheny =28

From graph we find that x



Answer 5.

Wehave 2x -3y =15 = -3y =15-2x = 3y=2x-15= y = 2><;15
Whenx =-2 = y:—gz -6.34
Whenx=0 = y=—§__5

11

Whenx =2 = y=—§ = -3.66

X -2 -1 0 i 2

W -6.34 | -5.66 =5 -4.34 | -3.66

Thus ordered pairs of 2x-3y=15are {(-2,-6.34),(-1,-5.66), (0,-5),(1,-
4.34),(2,-3.66)}. Hence graph is as below.

(i) x, wheny =3

From graph we find that x

12, wheny =3
(i) v, whenx = 0

From graph we find thaty = -5, whenx =0



Answer 7.

Wehave 2x + 3y +5=0 =2x43y=-5= 3y =-5-2x = vy :—22—5
Whenx = -2 = y:_% — £33
%)
Whenx =0 = y= . 466
=

Whenx =2 = y=_§ s

X B 3 0 1 3

Y B33 =& 166 | =2.33 =3

Thus ordered pairs of 2x+3y+5=0are {(-2,-0.33),(-1,-1), (0,-1.66}, (1,-

2.33),(2,-3) . Hence graph is as below.

" L B

(i)x, wheny = -3

From graph we find thatx = 2, wheny = -3

(i} y, whenx = 8

From graph we find thaty = -7, when x



Wehavex +y =4 =y =4-x
Whenx =-2 = y=442 =6
Whenx=0 =y =4

Whenx =2 = y=4-2 =2

X -2 <3 0 1 2

y 3 5 4 3 2

Thus ordered pairs of x + y=4 are {(-2,6), (-1,5), (0,4), (1, 3}, (2,2)}.
Also, 2x -y =2 = -y=2-2x =y =2x-2

Whenx =-2= y=-4-2 = -§

Whenx =0 = y=-2

Whenx =2 = y=4-2 =-2

X i =1 0 1 2

y 6 | 4 | -2 0 2

Thus ordered pairs of 2x-y=2 are {(-2,-6), (-1,-4), (0,-2}, (1,0}, (2,2)}.

AY
-g-

=B _— SRR A SN S S

The point of intersectionis (2, 2).



Answer 8.

We have 5x-3y=1 = -3y =1-5x = 3y = 5x-1 = vy :53‘53—1
1
Whenx = -2 = y':—?:_j‘ﬁﬁ
Whenx=0 = y= -%: -0.33
9
Whenx =2 = y:§:3
X < -1 0 1 2

y -3.66 =2 =035 ] 1.33 3

Thus ordered pairs of 5x-3y=1are {(-2,-3.66),(-1,-2),(0,-0.33),(1,1.33),
(2,3)} . Hencegraph is as below,

X' -
RED THEET IREE e TaE EEELEEEL TR TRELS
—{d2) L2 x
: ! L3
L (zaaes)
R R EEr
e
bt
L -7
o e e e T ]
=1
'IF.‘I

(i) x, wheny =8
From graph we find thatx = 5, wheny = 8
(i) y, whenx = 2

From graph we find thaty = 3, when x = 2



Answer 17.

Wehave3x-2y=4 = -2y =4 - 3x = 2y=3x-4 =y = paad

2
Whenx = -2 = y=d6_'4= -5
4
Whenx =0 = y= = =-2
Whenx =2 = y=6;24= 1
% -2 -1 0 1 2
Y -2 =35 -2 -0.5 1

Thus ordered pairs of 3x - 2y=4 are {{-2,-5), (-1,-3.5),(0,-2), (1, -0.5},
(2,1)}.

Also,x+y=3 = y=3-x
Whenx=-2= y=4+2 =6
Whenx=0 = y=23

Whenx =2 = y=4-2 =2

x 2 [ =1 0 1 2
y 5 4 3 2 1

Thus ordered pairs of x + y=3 are {(-2,5), (-1,4), (0,3), (1, 2}, (2, 1)}.

|

AN EaaaaNmar | OERANERiaZaNSEEEE D

The point of intersectionis (2, 1).



Answer 18.

Wehave2x-y=8 = -y=8 -2x = y = 2x -8
Whenx = -2 = y=-4-8=-12

Whenx =0 = y=-8

Whenx =2 = y=4-8 = -4

%x | 22 | =1 | B | 1T | 2

y | -12 | -10 | -8 | 6 | -4

Thusordered pairs of 2x -y = 8 are {{-2,-12),(-1,-10),(0,-8), (1, -6), (2,- 4)}.

6 — dx
3

Also,4x+ 3y =6 = 3y=6-4x =y =

Whenx = -2 = y=# = 4.66

Whenx =0 :>y=%=2

Whenx =2 = y=6;—8 = -0.66

X =2 =1 0 1 2

Y 4.66 | 3.33 2 0.66 | -0.66

Thus ordered pairs of 4x + 3y=6 are {(-2,4.66), (-1,3.33), (0,2), (1, 0.66),
(2,-0.66)%.

The point of intersection is (3, -2).
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